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Enbridge Gas 2022-2027 DSM Plan 

 

Interrogatories of Environmental Defence to Enbridge 

On Reply Evidence by First Tracks 
 

 

Interrogatory # 5-ED-1-EGIReply-1 

 

Reference: EGI Reply Evidence, Page 4 

 

Preamble: The First Tracks report states: 

 

 “I recommend that the OEB address three key questions before moving forward with 

amortization: 

 

o What level of budget increases are desired?” 

 

Question(s):  

 

(a) Does First Tracks believe the OEB should set the budget first or set the desired levels 

first? 

(b) Does First Tracks believe the OEB could decide at a high-level that significant budget 

increases are required and that amortization is therefore appropriate without specifying 

the exact level of budget increase? 

 

Interrogatory # 5-ED-2-EGIReply-2 

 

Reference: EGI Reply Evidence, Page 10 

 

Preamble: The First Tracks report states: 

 

With amortization, DSM costs are treated as a regulatory asset instead of an expense. 

Amortization cost recovery uses an approach consistent with the example provided 

earlier for pipeline and power plant assets, with one minor difference: with regulatory 

assets, investment costs are recovered through amortization, rather than the depreciation 

used for physical assets. Otherwise, the calculations and cash flows are identical to the 

example provided earlier for pipelines and power plants. 

 

Question(s): 

 

(a) Does First Tracks agree that it is possible to separate the amortization mechanism from 

the incentive/return mechanism (e.g., have no equity investment and incentives paid 

separately)? Please explain. 



(b) If the amortization cost of capital were separated from the incentive/return mechanism, 

does First Tracks agree that it would be appropriate to use the short-term debt rate to 

amortize these costs? Please explain. 

(c) If the amortization cost of capital were separated from the incentive/return mechanism, 

what does First Tracks believe would be the least expensive source of debt financing? 

Please consider different debt instruments available to utilities as well as the possibility 

of accessing capital at rates available to the provincial government.  

 

Interrogatory # 5-ED-3-EGIReply-3 

 

Reference: EGI Reply Evidence, Page 12 

 

Preamble: The First Tracks report includes the following figure: 

 

  
 

Question(s):  

 

(a) Please reproduce Figure 3 with the cost of capital for amortization being at the deemed 

short-term debt rate.1 

(b) Please reproduce Figure 3 with the cost of capital for amortization being 1.9%.2 

(c) What discount rate is used in Figure 3? 

(d) Please confirm that the appropriate discount rate is not necessarily equal to the cost of 

capital. 

 

 
1 https://www.oeb.ca/regulatory-rules-and-documents/rules-codes-and-requirements/cost-capital-parameter-updates 
2 https://www.oeb.ca/regulatory-rules-and-documents/rules-codes-and-requirements/cost-capital-parameter-updates 



Interrogatory # 5-ED-4-EGIReply-4 

 

Reference: EGI Reply Evidence, Page 12 

 

Preamble: The First Tracks report includes the following figure: 

 

  
 

Question(s):  

 

(a) Please reproduce Figure 3 with the cost of capital for amortization being at 1.9% and the 

discount rate being 6.08%.3 

(b) Please confirm that the following document at page 158 describes the Ontario 

government’s average cost of borrowing as being 1.9%: Government of Ontario, 2021 

Ontario Economic Outlook and Fiscal Review, 

https://budget.ontario.ca/2021/fallstatement/pdf/2021-fall-statement-en.pdf. 

(c) Please confirm that the discount rate used by Enbridge for its DSM plan is 6.08%. 

 

 Interrogatory # 5-ED-5-EGIReply-5 

 

Reference: EGI Reply Evidence, Page 14 

 

Preamble: The First Tracks report states: 

 

Over the full cost recovery period, the present value of revenue requirements is identical 

for both amortization and expense treatment (when using the utility’s cost of capital as 

the discount rate). Under both treatments, the present value of revenue requirements 

exactly equals the present value of DSM expenditures. In other words, the discounted 

cash flow for both treatments equal zero; because revenue exactly equal costs with 

 
3 https://www.oeb.ca/regulatory-rules-and-documents/rules-codes-and-requirements/cost-capital-parameter-updates 



expense treatment, and because the utility earns exactly it’s authorized cost of capital 

with amortization treatment.  

 

Question(s):  

 

(a) Please confirm that the present value of amortization treatment versus expense treatment 

is positive (i.e., net savings) if the cost of borrowing for amortization is less than the 

discount rate, and vice versa. Please explain. 

(b) Please confirm that this is just as true if the spending were on infrastructure as in the case 

of DSM. Please explain. 

 

Interrogatory # 5-ED-6-EGIReply-6 

 

Reference: EGI Reply Evidence, Page 5 

 

Preamble: The First Tracks report states: 

 

 “If the OEB does approve substantial DSM budget increases, I recommend that the OEB: 

o Phase in increases over several years; other jurisdictions have phased in large 

budget increases over three to four years.” 

 

Question(s):  

 

(a) The First Tracks report refers to ramp-up periods in other jurisdictions. Please provide 

some examples of ramping up that has occurred in other jurisdictions in terms of percent 

increases per year (by m3 and budget if possible). 

(b) The First Tracks report refers to ramp-up periods in other jurisdictions. Please describe 

one to three jurisdictions that have successfully ramped up the fastest. 

 

Interrogatory # 5-ED-7-EGIReply-7 

 

Reference: EGI Reply Evidence, Page 23 

 

Preamble: The First Tracks report states: 

 

By phasing in budget increases, the OEB will allow Enbridge and its implementation 

partners—the trade allies and implementation contractors responsible for deploying the 

higher budgets—a chance to ramp up the required infrastructure. At $142 million, 

Enbridge already deploys one of the largest gas DSM portfolios in North America, and so 

substantial budget increases will likely require structural market changes to accommodate 

more funding.  

 



Question(s):  

 

(a) Please substantiate the above statements by comparing Enbridge to the 10 largest DSM 

portfolios in North America measured proportional to the size of the market (e.g., ratio of 

DSM budget to total gas consumption).  

 

Interrogatory # 5-ED-8-EGIReply-8 

 

Reference: EGI Reply Evidence, Page 24 

 

Preamble: The First Tracks report states: 

 

 
 

If the OEB wishes to continue meeting its historic guidance on rate impacts, budget 

increases would need to be far lower than this 2X adjustment. Figure 10 shows more 

modest increases of 20%, with amortization calculated at Enbridge’s WACC and various 

amortization terms. These scenarios track closer to the OEB’s historic rate guidance, with 

higher savings in the short term and lower increases in the long term. 

 

Question(s):  

 

(a) Please confirm the percent by which Enbridge could increase the budget it has proposed 

while remaining within the $2 residential rate impact cap that previously applied in 

Ontario. 

(b) Please reproduce Figure 9 but with the monthly average residential rate impact as the 

vertical axis instead of the revenue requirement. Please provide all calculations. 

(c) Please reproduce Figure 9 with a discount rate of 4% and cost of borrowing for 

amortization of 2%. Please provide all calculations. 

 



Interrogatory # 5-ED-9-EGIReply-9 

 

Reference: EGI Reply Evidence, Page 25 

 

Preamble: The First Tracks report states: 

 
 

Question(s):  

 

(a) Please reproduce Figure 10 but with the monthly average residential rate impact as the 

vertical axis instead of the revenue requirement. Please provide all calculations. 

(b) Please reproduce Figure 10 with a discount rate of 4% and cost of borrowing for 

amortization of 2%. Please provide all calculations. 

 

Interrogatory # 5-ED-10-EGIReply-10 

 

Reference: EGI Reply Evidence, Page 30 

 

Preamble: The First Tracks report states: 

 

I don’t see how Enbridge could raise a billion dollars by promising investors only 4% 

returns.27 Those investors would instead shift their funds to other gas utilities earning 

their full authorized costs of capital.  If Optimal believes that Enbridge could somehow 

finance its DSM funding solely through bond investors, I don’t understand how this could 

work in Ontario. It is my understanding that the OEB directs Enbridge to maintain a 

capital structure including 36% equity. If Optimal thinks Enbridge could somehow 

dedicate a bond raise to support the DSM portfolio, this would have the impact of 

skewing the capital structure, and it would force Enbridge to increase equity to maintain 

the OEB’s guidance on capital structure.  

 



Question(s):  

 

(a) Is there any reason why arrangements could not be made with the Government of Ontario 

to obtain access to inexpensive government debt to finance the cost of DSM? In other 

words, is there any reason why the Government of Ontario could not borrow at the 10-

year government bond rate and lend those funds to Enbridge for DSM purposes at or 

close to its own cost of borrowing? 

 

Interrogatory # 8-ED-11-EGIReply-11 

 

Reference: EGI Reply Evidence, Page 49 & 57 

 

Preamble: The First Tracks report states on page 49: 

 

I agree with EFG that, if the OEB does substantially increase portfolio budgets and 

savings goals—either in the current case, at the Mid-Point Assessment, or in the next plan 

cycle—that maximum incentive payments should also increase. In my view, Enbridge’s 

profit incentive should be commensurate with the financial and management resources 

required to successfully execute the approved portfolio.  

 

The First Tracks report states on page 57: 

 

3.5.1.2. Maximum Performance Incentive Payments  

 

Increase performance incentive pool if budgets or savings goals increase substantially, as  

recommended by Optimal and EFG.  

 

Question(s):  

 

(a) If the maximum incentive pool is to grow, should it be pegged to: (a) first year m3 

savings, (b) forecast lifetime m3 savings, (c) budget, or (d) net TRC benefits? Please 

discuss the pros and cons of each (perhaps in a table). 

(b) Does First Tracks agree that pegging the incentive pool to the DSM budget would 

provide less incentive to propose a plan with better outcomes in comparison to pegging 

the pool to the m3 savings or net TRC benefits?  

(c) Please express the current incentive pool for 2023 as (i) a ratio of the maximum incentive 

pool ($) to the forecast lifetime m3 saving (m3) and (ii) a ratio of the maximum incentive 

pool ($) to the net TRC benefits. 

(d) Does First Tracks agree that it would be ideal to peg the incentive pool to the plan 

outcomes (i.e., m3 savings to $ TRC net benefits) before Enbridge finalizes its DSM plan 

so that the peg will incentivize Enbridge to prepare a plan that results in the better 

outcomes? 

(e) If the OEB were to peg the incentive pool to the m3 of lifetime savings, what would an 

appropriate ratio be between the incentive pool and the m3 of lifetime savings? Please 

provide a recommended figure and a range or reasonableness. 



(f) If the OEB were to peg the incentive pool to the net TRC benefits ($), what would an 

appropriate ratio be between the incentive pool and the net TRC benefits? Please provide 

a recommended figure and a range or reasonableness. 


